
Funktion
Notwendiges 

Kriterium
Kandidat

Hinreichendes 
Kriterium

Besondere 
Stelle

Höhenmesser: f(x)

f(x) f(x) = 0 - Nullstelle

Steigungsmesser: f‘(x)

f‘(x) f‘(x) = 0 f‘‘(x)  0 Extremstelle

Krümmungsmesser: f‘‘(x)

f‘‘(x) f‘‘(x) = 0 f‘‘‘(x)  0 Wendestelle

f‘‘(x) > 0 Minimum (TP)
f‘‘(x) < 0 Maximum (HP)

Notwendiges 
Kriterium

Besondere 
Stelle x

+ Hinreichendes 
Kriteriumergibt

Kandidaten
ergibt

Besonderen 
Punkt (x|y)

in f(x)

NS NS

HP TP

WP

WP

WP

linksrechts linksrechts

steigt fällt steigt

pos. neg. pos.neg.

f‘‘‘(x) > 0  rechts → links
f‘‘‘(x) < 0  links → rechts
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